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TERM 2 END TERM EXAM 2012
BIOLOGY FORM 3

SECTION A
[bookmark: _GoBack]
1. a) What is meant by the term binomial nomenclature?					(1mk)
……………………………………………………………………………………………………………………………………………………………………………………………………
b) Give two reasons why classification is important.					(2mks)

……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………

2. What is the formula for calculating magnification of specimen when using a microscope?													(1mk)





3. State functions of the following cell organelles.						(2mks)

i) Ribosomes

……………………………………………………………………………………………………………………………………………………………………………………………………
ii) Nucleus
……………………………………………………………………………………………………………………………………………………………………………………………………
4. Distinguish between diffusion and active transport.					(2mks)

……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………

5. State the products of light stage of photosynthesis.					(1mk)

…………………………………………………………………………………………………
6. The diagram below represents a nephron from a human kidney.




















a) Name the part labeled W, X, Y, Z.							(4mks)

W _________________________________________________________________

X__________________________________________________________________

Y__________________________________________________________________

Z__________________________________________________________________

b) Most of the glucose filtered into the glomerular filtrate is reabsorbed. From which part of the nephron does this re-absorption take place?						(1mk)

…………………………………………………………………………………………………
c) Name the process that occurs in part labeled W.					(1mk)
 …………………………………………………………………………………………………

7. a) Distinguish between population and community.					(2mks)

……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………

b) Name a method that could be used to estimate the population size of
i) Grasshoppers. __________________________________________________	(1mk)

ii) Lions in a park. _______________________________________________		(1mk)

8. State four differences between arteries and veins.					(4mks)

	Artery
	Vein

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	



9. The diagram below represents a part of the rib cage.	






















a) Name the parts labeled W, Y and Z.							(3mks)

W _____________________________________________________________

Y _____________________________________________________________

Z _____________________________________________________________

b) How does the part labeled Z facilitates breathing in?					(3mks)

……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………

10. Figure 1 below represent reproductive organ of plants.
















a) Which letter represents the organ that produce female gametes.			(1mk)

…………………………………………………………………………………………………
b) What is the function of structure labeled Q.						(1mk)
…………………………………………………………………………………………………………………………………………………………………………………………………
c) Name the structure W.									(1mk)
…………………………………………………………………………………………………
d) Which letter represents the structure where fertilization takes place?			(1mk)
…………………………………………………………………………………………………
e) Which letter represents the structure where male gametes are produced?		(1mk)
…………………………………………………………………………………………………

11. The following diagram shows a feeding relationship in an ecosystem.


Large fish	              Crocodiles


	Small fish				Mosquito larvae

		

		Microscopic plants

         a) From the diagram, write down a food chain with crocodile as secondary consumer.												 	(2mks)








         b) State the short term effect of removing large fish from the ecosystem.		(2mks)

…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

c) Which of the above organism would you expect to have the highest biomass?	(1mk)

…………………………………………………………………………………………………

ii) Give reason for your answer in  c (i) above.						(1mk)

……………………………………………………………………………………………………………………………………………………………………………………………………
SECTION B

12. In an experiment to determine the effect of exercise on the concentration of lactic acid in blood; the following data was obtained. Study the data and use it to answer the questions that follow. The lactic acid concentration was measured before, during and after the exercise.
	Time in minute
	0
	10
	20
	25
	30
	40
	50
	60
	70
	80
	90
	100

	Lactic acid concentration
	0.5
	0.5
	5
	13
	12
	8
	6
	4
	3
	2
	1
	0.9


a) Using a suitable scale, plot a graph of the concentration of lactic against time.	(6mks)






































b) From the graph you have drawn, determine;

i) The period of exercise. Explain.							(2mks)









ii) The time when oxygen debt occurred. Explain.					(2mks)








iii) The duration it took to pay back the oxygen debt. Explain.				(2mks)








c) On the same set of axes plot a hypothetical curve for oxygen intake during the experiment period of 90 minutes.									(2mks)

d) Why does lactic acid level usually continue to rise in the blood after exercise ceases.										 			(2mks
……………………………………………………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………

e) Suggest the two importance of anaerobic respiration to animals.			(2mks)
……………………………………………………………………………………………………………………………………………………………………………………………………
f) What is oxygen debt?									(2mks)
……………………………………………………………………………………………………………………………………………………………………………………………………
13.  Describe how the male reproductive system in adapted to its function.		          (20mks)

……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………………………
…………………………………………………………………………………………………
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